EARAROBREBRT —5 XN—ZXBISH—F

202218188 (X) 140155126

m C3-2 C3 UYSx—#& B
[AE%) 1 &:500,00H ~ 2%&:175,000H  337%:100,000H  43#%&:75,000H 53 :50,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
53 H o8 | BEEKX 1:33.7 2-2-2-2 | 40.8| - 1 531 | R (B4
115l6 | FL5vvnF 5.0 . oy | @1 P N
RiEY/0704 B:FLSVHD V& SHis
~, 2 v 8 | BLRF 1:34.0 4-4-4-3 | 40.8| — 2 467 |HEEX (&)
28|12 TAVRIIVE— 56.0 (1172 -3) EJ.%{’;E% B
RiTJUA—=Y B:TSvya94XTFRT4Z— N EHE
) g\ —— it 4 | KHAE 1:34.3 1-1-1-1 [41.6| — 3 456 | MEBEX (&)
31719 |¥Yavrya—Nz 34°0 a1/2) “3) e
Rib—EyYa—FY B:Y3vyz—IHA RHES
o DD » )1 18554 : -8-10- - KBS (FH0)
4 7| SPIUILT4—R o6 e (12314/28) 8-8-10-5 | 40.1 6 21343) L
KR:O—RApr+rO7 B:IUN—=TUR e
= — so4 | ERER 1:35.1 3-3-3-4 421 — | 10 | 408 |BBEIESE (FHD)
518111 =AFzU 54.0 (1172 1) |BEE B
RIIART—ILYF— B:AhADT— I EZ
o = —p\ j= FEHEEAER :35. -11-11- . - WAEEY (&4
oWl 4| ETFSTVF A SR 65 R R ’ ff;) SHEX
RN—EVYIv— BEIFITSV=— #HREt Ta4X
33 = 4 | TaFRNE 1:35.7 10-9-9-10 | 41.1| -— 11 | 430 |NIBFBHE &0
717110 V=035 UR i 54°0 m @) | BB
RIART—=ILYF— B:I9AFTSUR KBRS
=3 o6 | KEA 1:35.8 6-5-5-6 | 42.4| — 4 | 453 | HAKESBD (B
81111 |7~¥TIR 56.0 %) (+4) | PLHEF
RiFvyvH/Ft+ B:ITSAF47ET iEt=ts=ip e
B 1:36. 12-12-12-12| 41.3| - 4 WBE (S
9|55 | I7~YIIL 8 *52.0 (2316/23) } ? (_6;; Eﬂﬁﬁﬁ B
RiD—0T4—R B:IFNIZRAIL J=HUTr—1
v RS :36. 7-7- 2| - EEEE (F5)
o s enLan s | 48 ez | # (@ = A o et
Rig—bMLRDI B:E1—-<IHhTT HBEIT7—LA
— 5 4 5 | KEHEER 1:36.4 9-10-8-9 |41.8| — 8 499 | HHIIBRE (&)
1Y 2| AM1—hISR 5.0 ) (-4) | LEAS
RiFRF BIRARAT4—IRAE— J=HUT7—L
e w SHERT : -6-5- - AIES (F%0)
1 3| RFAI4T 48 e 1.(367).7 5-6-5-7 | 44.3 5 (4::77) TR
RN—EVIv— BRFAISUR HEI7—L
@ 11— —®BIEfI
10—+— 9,6,11,12,3,1,8,7,2,10,4,5
20—F— 9,6,11,12,1,3,8,7,10,2,4,5
30—+— |9.6,11,12,(1,3),8,2,10,7,4,5
43— — 9,6,12,11,7,1,3,4,2,10,8,5
o ILRE
B B 6 2804 JA R 6-12 210M4 % 5E 5-8 440M4 3EE 6-9-12 760M4
7B B 6 110/ 6-9 2504 5 & 6-12 460 3EH 6-12-9 2,820
12 120 9-12 210 B8 6-12 8604
9 140

ABIC OV TRUTEREERRODDZE. THRIIZEL.




